
 

Eeclidean Algorithm two numbers

Algorith to compute god ab
gap GitmodivisorRef a b be integers so that

not both a and b are zero GID of 0104
The GCD as is an integerg
so that
i gta and gib and
ii for all integers d if dla and a lb the dig

Lega
The euclidean algorithm uses
if a bqtr then ged aib gcd b r

tiggement

with a proof Examplet

End GCD 321 123 using the Euclidean Algorithm

321 2 123 75 Em'd GCD 321,123
a q u r

123 1 75 48 c CITI
GCD123,75

ff
8 1 48 27 60148.27
48 1 27 21 GCD 27,21
27 1 21 6 GOD 21 G

21 3 6 3 star GCD 6 3remainder
6 2 3 0 is the o GCD 3.05 3



Gascab Xatybforsome integers x and y
AlternatetableRaethod

3 21 3 6
321 2 123 75 21 3127 21
321 8 4121 3122
23 0 I 4148 27 3 27
75 1 2
48 I 3 4148 7127

4148 7175 48
SO 4 18

27 2 5 I 9 4721 3 8 1148 71756 5 13
3 18 47 11123 78 2175g

111123 18175

471123 181321


